Physiology CAT 2
1-total capacity is:
A/maximum ability to expand the lung
B/ volume of air expired maximally
C/ volume of air inspired maximally
D/ total capacity expired and inspired maximally

2-Renal compensate for acidosis in...
A-When Compensate PH return to normal
B-he has Diarhea
C-Hyperventilation
D-Uncontrolled Diabetes
E-All of the above are correct

3-One of the following concerned with filteration:
A-Change of the molecule
B-Lipid solubility
C-Water solubility

4-Prolactin:
A-Ejection of milk
B-Produced by post. Pituitary gland
C-Decreased during pregnancy
D-Inhibited by dopamine
E-Released from supraoptic and paraventricular nuclei
5-According to hypothalamic hormones:
A-GH inhibitory hormone somatostatin is stimulated by Increase GH in blood


6-Shehan's syndrome
A-Manifested by inability to lactate


7-Collecting duct:
A-Secrete K , Absorb Na
B-Freely reabsorb NA
C-Reabsorb Glucose
D-Reabsorb AA
E-Water
F-Phosphate


8-Milk Ejection is stimulated by:
A-Oxytocin


9-Which one of the following is mostly stimulate carotid bodies:
A-Increase CO2, Decrease PH, Decrease O2
B-Increase blood flow

10-which one of the following present normal insperation:
A-pnemotaxic center

11-Which one of the following is caused by diabetes insipidus:
A-High plasma osmolality

12-Inulin clearance is equal to:
A-GFR
13-the rate at the alveolar ventilation
a-4200 ml\min
b-4600 ml\min
c-3100 ml\min
d-600ml\min
e-6000ml\min

14-cyanosis occurs when 
a-3 of Hb\dl
b-4.5 of Hb\dl
c-5 of Hb\dl
d-10 of Hb\dl
e-7.5 of Hb\dl

15-One of the following doesn't cause hormonal secretion:
A-Chemical Stimuli
B-Degradation of endocrine gland
C-Feed back mechanism
D-Hormonal stimulation

16-Acid base:
a-strong acid 
b-weak acids accept H+
c-weak acid and completely dissociated
d-strong alkali donate H+
e-pH= - log[H+]

17-According to concentrated urine,true 
A-dehydration (low ECF) hyperosmolar urine
B-vasa recta perform caunter current multiplayer
C-inhibition of Na,Cl reabsorption kead to water retination 


18-Amount of CO2 transported in comination with Hb
A-70%
B-3%
C-10%
D-7%
E-23%
18- Filtration fracion is 
A- GFR/RPF 
B- RPF/GFR 
C- GFR × P 

19-Which one will increase GFR 
A- increase RPF
19-respiratory diffusion depends on :-
a-surfaace.
b-thickening.
c-volume.
d-patial pressur

20-carection of acidosis:-
a-decrease renal absorption of HCO3.

21-micturation reflex :-
a-sacral segemant injury .
b-lumbar segment .
c-begin with sympathetic activation .

22-water reabsorption :-
a-maintain hyperosmolar urine .
23-factors that affect the rate of gas diffusion through the respiratory membrane all true except
a- respiratory unit
b- change in the pressure
c- thickining of pulmonary membrane
d- surface area
e- solubility

24-which of the following have nothing to do with hypoxia
a- cyanosis
b- anemia
c- edema
d-shock

25-in patient with obstructive pulmonary asthma:

a-decrease residual volume.

b-Increase  FEV1 /  FVC ratio.

c-Decrease FEV1 /  FVC ratio.

d-Normal FEV1 & FVC .

e-Normal respiratory rate.

26-Regarding O2 transport :

a-independent to Hb .

b-systematic circulation will have 98 % saturation

c-pulmonary circulation will have 4 % saturation.

27-hypoxia is caused by all of the following EXCEPT:

a-exercise.

b-Loss O2 atmosphare

c-Hypoventlation.

d-Anemia.

e-Cynide poisoning.

28-Central chemoreceptor is stimulated by :

a-increase CO2  in arterial blood.

b-decrese O2 in arterial blood.

29-Which one of the following is 2nd messenger:

a-inositol phosphate.
b-Adenyle cyclase.

30-pH is :

a-log [H].

31-Which one of the following will increase GFR:

a-increase renal blood flow

b-concentration of afferent arteriol

c-increase in glomerular pressure.

d-Increase in bowman's hydrostatic pressure.

e-Decrease blood flow.

32-The osmolality will reach in the PCT:

a-300.

b-100.

c-1200.

d-200.

e-1000.

33-O2 has higher affinity to Hb in:

a-↑ pH ( alkalosis).

b-↑ P CO2 .

c-↑ P H.

d-↑ 2,3- DPG.

e-Warming blood.

34-Which one of the following is not a symptom of hypothyrodism:

a-exophthalmus.

b-Intolerance to cold.

c-Myxedema.

d-↑ weight.

e-↓ apetit.

35-Primary hyperthyroidism T3, T4 & TSH concentration:

a-low T3,T4 & high TSH.

b-High T3, T4 & low TSH.

c-High T3,T4 & TSH.

d-Low T3,T4 & TSH.

e-Non of the above.

36-One of the following favore filtration:

a-PG

b-Π G

c-PB

d-Π B

37-Renine:

a-↑ reabsorbtion of Na.

b-convert angiotensin.

c-Reabsorb Na & K
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